STAT 106

EXERCISE 5

1. The following table classifies 400 people according to their smoking habits and whether or not they have cancer.

	
	Smoker (
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	Non-Smoker
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A



	Has cancer (
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	200
	50

	Does not have cancer 
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C


	50
	100


If an individual is selected at random from this group, find the probability that he/she is

(a) a smoker and has cancer ,

(b) a smoker or has cancer 
(c) a non-smoker or has cancer
2 A and B are events defined on the same sample space.
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      Find: (i) P(A
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B),  (ii) P(A
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(b) If  P(A
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      Find:    (i)  P(A),      (ii)  P(
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B),    (iii)  P(A
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3 Refer to the data in question 1,


(a) If an individual is selected at random from the group, find the 
             
      probability that the person selected: 

     (i) has cancer given that he/she is a smoker.





     (ii) is not a smoker given that he/she does not have cancer.

(b) determine whether smoking and having cancer are independent. 

4 Let A and B denote two events defined on the same sample space.
 (a)
If  P(A) = 0.6,  
P(B) = 0.4, and P(A
[image: image25.wmf]U

B) = 0.74, determine 

      whether A and B are independent.


(b) If A and B are independent and P(A) = 0.3 and P(B) = 0.1 ,

     find    (i)  P(A
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B),  
(ii)  P(A
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(c) If A and B are independent and P(A
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,  find P(B).
(d)  If  P(A) = 0.5,  P(B) = 0.6  and P(A
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B) = 0.80, determine whether A and B are independent.
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